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QUESTION 1

A multi-select attribute with five options is displayed as check boxes. Depending on the conditions, the Configurator
should show a user three of these five options. How do you accomplish this? 

A. by writing a Constraint rule 

B. by writing a Hiding rule 

C. by writing a Recommendation rule 

D. by writing a Pricing rule 

Correct Answer: B 

 

QUESTION 2

Identify two options to which transactions can be forwarded using forwarding rules. (Choose two.) 

A. any of the users who are part of the Approval group 

B. user groups 

C. users 

D. any email address registered in the CPQ Cloud system 

Correct Answer: BC 

 

 

QUESTION 3

Which attribute type cannot be displayed on the line item grid? 

A. Single-select menu attributes 

B. Currency attributes 

C. HTML attributes 

D. Text attributes 

Correct Answer: C 

 

QUESTION 4

Given the following code: 
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Which one of the following statements, when placed in the blank space, will give strArr2 a value of "123?" 

A. join (strArr1,"") 

B. join (strArr1, " ") 

C. combine (" ", strArr1) 

D. combine (strArr1, "") 

Correct Answer: B 

 

QUESTION 5

The user would like to run the "SFDC Quote Upsert" on a commerce action. Where would the user define this within
CPQ? 

A. The user will define the action to run in the SOAP Generator XSL. 

B. The user will select the "SFDC Quote Upsert" from the Integration list in the Integration tab on the commerce action. 

C. The user will select the "SFDC Quote Upsert" from the Modify tab in the commerce action. 

D. The user will define the relation in the Integration Center under the Integration Platfrom within the Admin Homepage. 

Correct Answer: B 
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